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Questions
Which is not correct -

Traversing is carried out for a close traverse PQRS.
The internal angles @vertices PQR & S are
measures 92 degrees, 68 degrees, 123 degrees, 77
degrees respectively. If F.B of line PQ =27
degrees. FB of lines Rs =?

There was a question on Steel related to Bolt

All numbers has same Aixal Rigidity - R= 500X
10 P=150 KN, L=3m Magnitude of Horizontal
Displacement of Joint

V =70 (1-0.7k) determine the time had way
maximum traffic volume

The most preferred curve for vertical alignment
is...

Calculate the ratio of vertical force by horizontal
force?

More Questions will be Updated Soon in the Same Link

Questions

There is a question on Mirror Image in
Mathematics

There was a question on basic
probability

Highway questions:- Space mean speed
,Webster method cycle time,position ratio
question

Total time loss as given as 3 second per
phase. Number of phases are two
determine the optimum cycle length if y1
and y2 are given as 0.47 and 0.3
respectively

Spot Speed 40, 55, 60, 65 and 80 km/hr.
Calculate mean speed



